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. Finish counting - Start Probability . continue probability
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. translate English statements

to logic statements

- negate logic statement

- Tarski world like problem

- predicates



Probability Example

. Random experiment  . roll a fair six - sided die

° generate outcomes w er . roll a 5
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Candy : Standard deck of cards . 4 suits Hearts
,

Diamonds
,

Clubs
,

Spade,

'

Wti each suit 213,4 ,
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Urn Problems
-

: 15 red cubes

10 blue cubes

. Rand . Exp .

i
.

draw onecube from urn
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: draw 3 cubes at once ( sampling W/o replacement )
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' Es = 2 red
,

I blue
IS red cubes

10 blue cubes
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. Sampling W/ replacement 25 cubes
,

15 red
70 blue

↳ Draw 3 cubes
,

one at a tune
, put back between draws
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Expectation are Cws

. random variable
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Example dies
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